Classification of Equations & Principles of Solutions

Okjectes -

I Lleyovt He a/iﬁemt clesses 0‘? ODEg.
2. oxplein e 3werel sud 9peci{—{¢ golvhow.
3. Show Uaw to v@r'.{'-j s solvhon.

Clagsificohon o Egueh‘mg

0. Odinpuy vs. Perdisl © OP& leve oue :ualc(t’m/aa'f' vrisbles.
J POEs e 110 or wore indpuedsnt vaviables.
Eﬁmylcs ordi wa Parha |

ﬂ( + 24 +au +Ju
fedpralo| e ol
. 0/‘6(01’ The lmglneﬂ’ a/cm/an‘wc ;»fsw'f‘ order , Lot 7 'e(j: a" a and 3() 4—3’.

ekewfleg 1t order —> Py Fi(+)y = C#) de?
And MlW —> Pt+)3"+ Pu)a + 2,14)3 al4)

nHr M&r —> Puu)a“’ +ﬂ-:(+)9 +-"+B(*)a'+7’a(*7 =6H)

2. Athuowy - Whether o wt e o fuchon of + in He wies o ovE.
o Ablouce, :  An 0DE which is wet su explic faction of .
‘”M'Aﬁwowm'. M 0 wbich iy 3n egpliat f-mh’m o €-

Exomgles  Ah uov- Adp
“ky | 9 Ket
eaw )

3, MHowogem; :*QFH90¢#eODgw be zew or not.
o How 5. The PHG i9 zevo .
¢ Nou- Mojwew'. e PHo is nov- 2es0"

Exempies © Hhwo Nown —How o

l’_‘/ “+ +
%-H;Z =0 ‘4,&29:{"’2{;
am.,’_ean*a (‘Jtl4 *p""’? = 0{-?3

4. Liveari % : When He dediobes wud vaidbles 1 e 0DE

ae wolhiplied by covgtents or fmctions of £ — livear in He deperdint vevisvle .
Tu othor Mnl;,-rﬂe aﬂﬁcw e wuten M*‘*&—frmt

o A + B DAY+t BNy Py + By = 6o,
/eﬁl ’{tv-l /él de

Topics Page 1



Eraupley: lineer o~ ljnesy
a"*a;o 6'-} ya =0
9"ay'y =\ a’*v‘= D

9;:4({')3‘4» 05(Y =e* 5"4' sm(ﬁ) =0

Typeo EE Exact 9olvhen

An et olitivn B 2 wethewsthicsl erpression solvect walyrb'callg ( €. Vs')wg esleulvg)
ot sobsPics He ODE.
—> There =re +wo '!'7,769‘. () 3eue/al aud (2) specipe.

¥ Example . Expoventisl jm«%/deca?
g_/g = ky wheve K 9 qome cwwstont. —> 19*-01'01"4‘) livesy, auty, Howmo
At

5(4.) = A@kt whae A s on arb;"l'ma avstont .

——
Given ¢(d) = ?o ) mihal  cowdihoy
alo) = Ack(o
a" = A Kt
%o, a(-t)= 90 e is e speific solvhion,

Whst wskes > cdlution valiel? ( Ver')-fryim? Glutiovs)

X Exawple - solytion —> aH’) = Ae*® , OVE. g(_g, = kg

At
ég._ = ILAGH:
AL
dy =k
% -

k4{1 =|%f7{
g, yt) = Ae¥t is He solvhon o) dy = kg,
: wion of dy - by
Wore Vevibwing Salohing

-ﬂIU

X Exewmple _g(_Q: = 362(“’2) — 1ot-order, linear, nom-zvh , on-howo

Topics Page 2



vy
X Exewgle g{g: = 3{:’(I+3) — 1ot-order, linear, nom-zvh , von-lbhowo

Y a
J/;oluh’avl
_es
9#) =-l+ke” , Ko — gemersl soltion
3
Veifirhon: dy = 0 + ket® 34° = K7l
AL
de = 2 (1+y)

pr
ske’et” = 3¢ (Ve fT rret)

) k)
kit = gzt

Topics Page 3



